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1. Read the following extract from ‘Every child is free to be a child’ and answer
the questions that follow:
Satyarthi studied electrical engineering and obtained a postgraduate diploma in
high-voltage engineering. He taught in a college in Bhopal for a few years before
dedicating himself to a life of advocacy against child labour and child servitude.

This tireless campaigner for children’s rights established the Bachpan Bachao
Andolan (BBA) in 1980 with a vision to end the problem of child labour. The
organization soon became a mass movement that identified, liberated, rehabilitated
and educated child labourers across the country. It has liberated 82,000 child
labourers to date and continues to work to rehabilitate and educate them.

Back when the organization was formed, the issue of child labour was not widely
discussed in public. Those were challenging times for the BBA. When Satyarthi led
rescue missions for children and others working in bonded labour in manufacturing
industries, he was attacked several times but he survived. Those incidents of
violence only strengthened his resolve to continue with his work.

Bachpan Bachao Andolan’s efforts have also led to the framing and implementation
of very important legislations on the issue of child labour in India, like the Child

Labour (Prohibition and Regulation) Act of 1986, which includes a ban on child
labour till the age of fourteen.

A. Write whether the following statements are ‘True’ or ‘False’.

1x4=4
a) Satyarthi left his job to fight against child labour.

b) Bachpan Bachao Andolan helped and educated child labourers after
rescuing them.

¢) People were well aware of the problems of child labour before Bachpan Bachao
Andolan (BBA) was established.

d) Satyarthi did not face any challenge while leading rescue missions.

B. Complete the following sentences: 1x3=3

a) Bachpan Bachao Andolan was established in 1980 in order to

b) Bachpan Bachao Andolan has successfully freed

c) Satyarthi’s mission became successful with the implemention of

P.T.O.
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C. Find words from the extract that mean the following:
) the condition of being a slave:

b) to save someone from danger :

¢) strong determination:

2)

1x3=3

2. Read the following extract from ‘The Boy and the Swallow’ and answer the

questions that follow:

High above the carth. the power lines stretched across the flat and unchanging
ficlds. One of the giant electricity poles was on his father’s ground in a square patch
fenced off with barbed wire. Andre was eleven vears old. and he knew one cannot
touch electric wires. Warning plates with a red skull and crossbones said in three
languages: DANGER.

Andre was a day-dreamer, and the power lines opened for him a door — a door into

a far-off world of magic. A world where there were big machines and busy
factories.

On clear evenings, when the swallows gathered, he loved to hear the birds make
excited twittering sounds. He loved to see how they flew off the copper wires into
space and how their perfect, curved wings lifted them in the air. They were flying

thousands of kilometres over land and sea and mountains to countries he had never
dreamt of. The birds opened another door for him.

He watched the swallows one morning as they took off from their perch on the
power lines.

One of the swallows stayed behind, hanging there, flapping its wings. Andre saw it
was caught by its leg. He wanted to rush back and tell his mother, but she would
scold him for being late for school, so he went off to catch the bus.

a)What was Andre’s idea about electric wires? What did Andre feel as a day-dreamer?

1+2
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(b) What did he love to see? What door did the birds open for him? 2+2

(¢) Was Andre sympathetic to the swallow that stayed behind? How do you know ?
1+2

3. Read the following excerpt from ‘Easily Distracted!’ and answer the question
that follows: 8

Finally, he (Harsh) made up his mind, he’d pull off the shirt stunt only if he won the
finals! Yes! Looking relieved, he said, ‘Yeah, Ma, that sounds great!” Mrs Rao sent up
a silent prayer in thanksgiving!

Imagine Harsh finally wins the tournament and everybody praises him for his
performance. Write an imaginary dialogue between Harsh and his mother who

convinces Harsh that hard work and determination are important in the field of
sports instead of stunts.
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4. Read the following poem and answer the questions given below:
Written in the Fields

To one who has been long in the city pent,

*Tis very sweet to look into the fair

And open face of heaven, - to breathe a prayer
Full in the smile of the blue firmament,

Who is more happy, when, with heart’s content,
Fatigued he sinks into some pleasant lair

Of wavy grass, and reads a debonair

And gentle tale of love and languishment?

Returning home at evening, with an ear
Catching the notes of Philomel, — an eye
Watching the sailing cloudlet’s bright career,
He mourns that day so soon has glided by:
E’en like the passage of an angel’s tear,

That falls through the clear ether silently.

A. Tick (V) the correct answer from the given options.
a) The city-dweller expresses his gratitude through

i) aprayer.

ii) asong.

000

iii) chanting.
b) ¢... the fair / And open face of heaven,’ refers to
i) the sky.

ii) the moon and stars.

000

iii) the sun.
he

=

c) The first line of the poem rhymes with

i) second line.
i1) third line.
iii) fourth line.

d) The word ‘debonair’ means here

i)  mournful.

ii) cheerful.

000 ood

iii) lonely.

1x4=4



(6) 2%3=6

Uplgadgd\RY il SRARAN R tions.

a) What does the city-dweller do in the countryside?

b) What does he hear and see while returning home?

¢) Why does he feel sad at the end of the day?

S. Read the passage and answer the following questions:

A wonder in the plant kingdom, the Great Banyan tree of the Acharya Jagadish

Chandra Bose Botanic Garden at Shibpur in Howrah occupies a unique position in the

Guinness Book of World Records. It is now regarded as the widest tree in the world in
terms of the area of the canopy. The present crown of the tree has a circumference of
450 metres and the highest branch rises to 24.5 metres.

The tree was first noticed in 1786, three years before the Royal Botanic Garden,

Calcutta, came into existence. The Great Banyan Tree has captured the fancy of many

artists across the world, who have both sketched and sculptured it. The government
has released postage stamps on the tree. The Great Banyan Tree also holds the
distinction of being the emblem of the Botanical Survey of India. The garden authority
is now busy recovering its lost glory. “There were only two living beings which were
as old as the city of Kolkata. One was the giant turtle of the Alipur Zoo, which died a
few years ago after living for 304 years. Now the only surviving witness of the city’s
history spanning over 300 years is the Great Banyan,” said H.S. Debnath, the Joint
Director of the garden.

(A report published in The Times of India)



N

Uploaq'lecd P ?l!ié%prar;cstaays?ver from the given alternatives. 3x1=3

a) A wonder in the plant world is

i) the Botanic Garden D
ii) the giant turtle )

iii) the Great Banyan Tree D

b) The tree was noticed first in

i 1786 )
ii) 1886 )
iii) 1986 )

c¢) The tree captured the fancy of many

i)  botanists
il) scientists D
iii) artists O

B. Write ‘True’ or ‘False’ against the following statements. 1x3=3

i) The Great Banyan Tree is the emblem of the Botanic Garden.
ii) The present circumference of the Great Banyan Tree is

more than 500 metres.

iii) The Great Banyan Tree is the only surviving witness

of the city’s history
C. Complete the following sentences with information from the text: 3x1=3

i) The Great Banyan Tree has been mentioned in

ii) The Great Banyan Tree is considered

iii) The giant turtle of the Alipur Zoo died a few years ago after

D. Find words with similar meaning from the passage. 1x3=3
i) acover that hangs or spreads above something:

ii) symbol :

iii) great honour :
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irected :
rrect dl:\: of the verbs in prackets-
itch?’ icket coach. All the boys
(be) a cricket pitch? asked the ¢r k) i

(look) at one another and then —
heads, for none of them (know) the answer-

1x4=4

6. Al}swer the following questio
A. Fill in the blanks with the correct fo

*How long

1x2=2
B. Fill in the blanks with appropriate prepositions.
Darjeeling.
I shall spend my vacation my parents . : &
4
C. Report the following dialogue :
. ?
Nikhil : Have you seen the final match between India and NewZealand?
Suresh Yes, of course, and I enjoyed it a lot.
Nikhil : What did you like the most about the match?

Suresh I enjoyed Rohit Sharma’s captaincy the most.




L ad
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s Write a p

I on t ¢ cst vals ce ebrating ‘Ii ere easons in

10
n and Sriniketan.

(Hints : Names of the festivals, time, places, brief descriptions)

_
_




Uploaded by Siksha-Satra (10)

8. Develop a story using the following hints. Give a suitable title to the story.
10

A man travels by train ... gets down ... forgets his bag ... a porter notices the bag ... a
lot of money in the bag ... finds a card with the man’s name and address ... returns
the bag ... the man wants to give rewards ... the porter refuses ... “It is my duty.”

Begin : A man was travelling by train ...




